5 M YEpHbIN
PUR

10 M YépHbIX
PUR

2 M YEpHbIN
PUR

5 M YEpHbI
PUR

10 M Y€pHbIX
PUR

2 M YEpHbI
PUR

5 M UEpHbI
PUR

10 M Y€pHbIX
PUR

CxeMbl NOAKNIOUEHUA

LiBeTa wun

BK UEPHbIV

BN KOPUYHEBBIN

BU CHHWK

WH Genbii

GN/YE 3enéHbli/xEnTbIi
GY cepbin

GN 3€NEHbIN

YE KENTbIN

PK PO30BbIV

screen 3kpaH

oG OpaHXeBbIn

VT $UONeToBbIN

RD KpacHsbI
RD/BK  kpacHbIi/4épHbii
RD/WH kpacHbIi/6enbin
1

TPU / 50 AC IP65/1IP67/
5x0,34 MM2, @ 4,9 MM HEPX. CTaslb 60 DC -40...90 IP 68/ - 54 EVMO040
V4A IP 69K
TPU / 50 AC P65 /1P 67/
5x 0,34 MM2, @ 4,9 MM HEPX. CTaslb 60 DC -40...90 IP 68/ - 54 EVMO041
V4A IP 69K
TPU / 60 AC IP65/1IP67/
5x0,34 MM2, @ 4,9 MM HEPX. CTaslb 60 DC -40...90 IP 68/ - 55 EVMO036
V4A IP 69K
TPU / 50 AC P65 /1P 67/
5x 0,34 MM2, @ 4,9 MM HEPX. CTaslb 60 DC -40...90 IP 68/ - 58] EVMO037
V4A IP 69K
TPU / 50 AC IP65/IP67/
5x 0,34 Mm2, @ 4,9 Mm HepX. cTalb 60 DC -40...90 IP 68/ - 55 EVMO038
V4A IP 69K
TPU / 50 AC P65 /1P 67/
5x 0,34 MM2, @ 4,9 MM HEPX. CTanb 60 DC -40...90 IP 68/ - 54 EVMO039
V4A IP 69K
TPU / 50 AC P65 /1P 67/
5x0,34 Mm2, @ 4,9 MM HEPX. CTasb 60 DC -40...90 IP 68/ - 54 EVMO040
V4A IP 69K
TPU / 50 AC P65 /1P 67/
5x 0,34 MM2, @ 4,9 MM HEPX. CTaNb 60 DO -40...90 IP 68/ - 54 EVMO041
V4A IP 69K
2 8
M L+
51 BN |, ; ; ‘
o S — >
—mout 2 4 ::‘
o - —
YE Fr OGNy 53 YE¥4 GN¥y
4
3 BU , _ D —
L 3 -
3 9
N BN,
2 WH
1 P, out
D—
s N WH 4 BK ot
34 :4 BK YE¥y YE¥y GN¥y
D—
) [1] [1] BU,
4 10
1
1 BN r—
D — 1 GNIYE 2
2 WH r— r—
D —— 2 3
3 BU r— r—
r— 3 BU 4
54 BK r— r—
I



http://www.ifm.com/products/ru/ds/EVM040.htm
http://www.ifm.com/products/ru/ds/EVM041.htm
http://www.ifm.com/products/ru/ds/EVM036.htm
http://www.ifm.com/products/ru/ds/EVM037.htm
http://www.ifm.com/products/ru/ds/EVM038.htm
http://www.ifm.com/products/ru/ds/EVM039.htm
http://www.ifm.com/products/ru/ds/EVM040.htm
http://www.ifm.com/products/ru/ds/EVM041.htm

FHésna c kabenewm,
rHésga c Knemmamu

CxeMbl NOAKNIOUEHUA

11 14 17 21
1 ~ BN SA BN
—— BN N BN 2 WH 5 GVPK
3’27\';: 52 WH 3 BU ’Z—si
2 ) 53 BU 4 BK Dﬁ
5 oY 54 000 BK 5 - GY Dﬁ
55 0 oy [___screen N romu
> FK 50 VT
12 D — 18 N WH
> 06 s GY
i,2 WH
b I { Liseta B coOTBETCTBUM i
4 oy ¢ DIN EN 60947-5-2 >3 BU 22
5 BN : 4_ BK M
T 15 T T screen 2 o
Y 53 YE
4 GY
6: He ucnonb3yercA S wH 19 DS—GY/PK
2 BN 6 RD/BU
13 53 GN NGl ~ BN 7 WH/GN
A { - : 2 WH 58 BN/GN
4 WH P I—C) & : 3 BU 9 BU
32 BN 6 00 PK P> BK ;10
S — S Bu iZs oy St BN
RE— 2 R 'Y e >12_ YEGN
5 5 GY 23
56 PK 20
N BU
8 screen 16 M
r— 5C WH/GN S I—c
1 ~ BN SE GY/IPK 2 ROBK
2 WH N GN > RDWH
3 BU 5L BU
4 BK SN eNmN
T _screen 50 RD/BU
5P WH 24
RS Gy
>y YE N BN
52 BU
54 BK
N WH
25
I
2
8
}é._,_._._._._._._._._._4_..
26
N
2
8
N
5
N
}é._,_._._._._._._._._._4_..

727



CxeMbl NOAKNIOUEHUA

27
28
31 VT
32 RD
33 GY
:4 RD/BU
35 GN
36 BU
37 GY/PK
38 WH/GN
39 WH/YE
Mo whiey
A B
M2 onME
M3 YERN
314 BN/GN
M5
316 YE
317 PK
M8 GveN
Mo BN

1
1 il 1 il 4 2
3(@%)1
mBx1 9 mx1 9
2
19, 19,
on 4_2
9 M8x1 H & 9 A
0
3
19,
)2
www.ifm.com/ru

728




FHésna c kabenewm,
rHésga c Knemmamu

YepTtemu B popmate CAD anA ckauMsBaHMA Ha cauTe: www.ifm.com

7 13
1,2 1l
B0 B0
5 5
473 43
8 14
20
2.3 1
s &
1
M12x1
9 15
15 20
2 .3 1
- - f‘a 5 ooo
T 1
M12x1 M12x1
10 16
220
1,2 ] 1,2
8
4o o3 @J 6 ; 4
M12x1
M12x1
11 17
18 15
" 1,2 H 81,2
30 A 3 3
@ oo ” 76 %034
43 i 3
M12x1 M12x1
12 18
1,2 802
a0 0
ek
oo B
5\
473 5 4

729




npOMbII.I.IﬂeHHbIe coequHeHunA

YepTtemu B popmate CAD anA ckauMsBaHMA Ha caWTe: www.ifm.com

19 25
" 26 85 ; 9 s
4 H
%) 8 @ il iy
‘ 6% NS R s R
M12x1 4 1 5
M23x1
20 26
A L 26 49 9
198
gM uTJ @ H 120 172
o S \K\J AN 3 6
Pe st Y 445
M23x1 20
21 27
51
]
A 9
g’\" UTJ a 1201 8172
o s 924 3 6
Pe R SR
22 28
26
@
! ° 04 &%
23 )
M23x1
U
23 29
25 26 85 18
“ 7 191 12/44
@) “ )
2 @ 14 i 8916
Mt M23x1 155 67
24 30
26
) ,
k% 101 812 2.3
e 3
M23x1 : 4 i 5 ° 1/2" 20UNF !
W
www.ifm.com/ru

730




FHésna c kabenewm,
rHésga c Knemmamu

YepTtemu B popmate CAD anA ckauMsBaHMA Ha cauTe: www.ifm.com

31 37
226
(&
1 32
9
32 38
29
18
By
2145 [+~
2.a3 3]
1Y [
s
1
172" 20UNF
33 39
15
P o) s
_ %
T 1 374
G
34 40
20
2145
5 a1 KC>\ o +
SO 5
3 &3, B e
° 3
112" 20UKF
Ra'24 D)
35 41
14,5
== 3
VY — 4
3 E =g
4372 Ny 31
112" 20UNF Mgt o
36 42
15
5 1 4
6™
‘ 3 31
v-20UNF

731




43 |
19
4 1“2
%9 1 | 43
M12x1
44 |
31 1
” SH
Msx1 " 4
45 |
19
4_2 1
e 3(%0)1 )
46 |
47 |
) 3
)
M12x1
48 |
1 a2 1
| 5o,
A

www.ifm.com/ru

732



FHésga c kabenem,
rHésga c Knemmamu

55 56

155 14
e— - 00
== 507
4 3
M12x1

733



